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Question 3: 

1) 2 3 3 1x x    

There are two cases   to consider. 
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    2)  5 3 1 7 8x    

5 3 1 15x              3 1 3x         Either      3 1 3x        OR    3 1 3x    

For either case 
4

3
x    and for OR case    

2

3
x    . 

 

The solution set
2 4

, ,
3 3

   
      
   

. 

 

 

 

 

 

 



Question 5: 
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    Take the first equation with the second one and on other side 

take the first with the third and eliminate z . 
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Substitute the value of  y  in equation number 4 and then find x   , we have: 

2 6(0) 6x      Implies that  3x   now find the value of z using any equation of the system. 
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The solution point  3,0,1 .  

 


